
 

I I I n an implication

if p then q
it notof then not p contrapositive is equivalentto the original

IX PH Q1x original

7041 PIM e contrapositive Not a negation

ex Forany integer ask if Iff
then
nt8yn8_

Prove the claim is the by proving the contrapositive

Thecontrapositive is forany integers a b if
NoÑa b 8

then NOT atb 715
notnecessary

foranyintegers a b if as8 and 0 81 then atba 15.2
Tplified contrapositive

suppose we have integers
a bwhere ac8 and

6 8

since a and b are integers
a 7 and b 7

Then atb 14 15 So atheis

only for implication claims



IÉI prove clamp simplication conjunition etc

we create a
world in which we assume P to be false

Then we show
that assumption isthpossibletomakesbecause

it leads to a contradiction int mp'iiiim iqi
So Pmust be true

I.iti iEi
suppose for contradiction the claim is false

That is a bet sit 189466 I

aib EC s t 189 66

Then Bath 1 6

we know a bed 50 39th EZ But 116 I

This is a tortradiation

Therefore our fcla.im was true


